

$$\begin{cases} u_{tt} = 2\Delta u + x^2 + y^2 + z^2 \\ u|_{t=0} = (x+y+z) \sin(x+y) \\ u_t|_{t=0} = e^{-(x^2+y^2+z^2)} \quad (x,y,z) \in \mathbb{R}^3 \end{cases}$$

$$u = u_1 + u_2 + u_3$$

$$\textcircled{u_1} \begin{cases} u_{1,tt} = 2\Delta u_1 + x^2 + y^2 + z^2 \\ u_1|_{t=0} = 0 \\ u_{1,z}|_{t=0} = 0 \end{cases} \quad \begin{aligned} &u_1 = u_{11} + u_{12} + u_{13} \\ &u_1(x,y,z,t) \\ &u_{11}(x,t), u_{12}(y,t), \dots \end{aligned}$$

$$u_1 = f(t)(x^2 + y^2 + z^2) + g(t)\Delta(x^2 + y^2 + z^2)$$

$$f''(x^2 + y^2 + z^2) + g'' \cdot 6 = 2f \cdot 6 + x^2 + y^2 + z^2$$

$$\begin{cases} f'' = 1 \rightarrow f = \frac{t^2}{2} + C_1 + C_2 t \\ f(0) = 0 \\ f'(0) = 0 \end{cases} \quad \begin{aligned} &C_1 = 0 \\ &C_2 = 0 \end{aligned}$$

$$g'' = 2 \frac{t^2}{2} = t^2 \quad g = \frac{t^4}{12} + C_1 + C_2 t$$

$$\boxed{u_1 = \frac{t^2}{2}(x^2 + y^2 + z^2) + \frac{t^4}{2}}$$

далее только план решения

U_2

$$\begin{cases} U_{2,tt} = 2\Delta U_2 \\ U_2|_{t=0} = (x+y) \sin(x+y) + z \sin(x+y) \\ U_{2,t}|_{t=0} = 0 \quad U_2 = U_{21} + U_{22} \end{cases}$$

$$\begin{cases} U_{22,tt} = 2\Delta U_{22} \\ U_{22}|_{t=0} = (x+y) \sin(x+y) \\ U_{22,t}|_{t=0} = 0 \end{cases} \quad \begin{cases} U_{21,tt} = 2\Delta U_{21} \\ U_{21}|_{t=0} = z \sin(x+y) \\ U_{21,t}|_{t=0} = 0 \end{cases}$$

U_{22}

$\xi = x+y$ $\eta = x-y$ $z = x+y$ $z = x-y$

необходимо сдвиги на 45°
для нормализации
(с. разделение)

\rightarrow одноим. \rightarrow с. раз. D

U_{21}

$$\Delta z \sin(x+y) = -2z \sin(x+y) - \text{с. раз.}$$
$$U_{21} = f(t) \text{ с. раз.}$$

U_3

$$U_{3tt} = 2 \Delta U_3$$

$$U_3|_{t=0} = 0$$

$$U_{3t}|_{t=0} = e^{-(x^2+y^2+z^2)} = e^{-\rho^2}$$

переход в сф. с. к., $\sigma r, \theta$ не забуди

$$x^2 + y^2 + z^2 = \rho^2 \quad \rho > 0$$

$$\Delta U = \underbrace{U_{\rho\rho} + \frac{2}{\rho} U_{\rho}}_{\text{сф. с. к.}} - \text{сф. с. к.}$$

$$\frac{1}{\rho} \left\{ \underbrace{\rho U_{\rho\rho} + U_{\rho}}_{(\rho U_{\rho})_{\rho}} + U_{\rho} \right\}$$

$$\frac{1}{\rho} \left\{ \underbrace{(\rho U_{\rho})_{\rho}}_{(\rho U_{\rho})_{\rho}} + U_{\rho} \right\}$$

$$U_{3tt} = 2 \frac{1}{\rho} (\rho U_3)_{\rho\rho}$$

$$(\rho U_3)_{tt} = 2 (\rho U_3)_{\rho\rho}$$

замена пер. ф-ии $V = \rho U_3$

$$\left\{ \begin{array}{l} V_{tt} = 2 V_{\rho\rho} \\ V|_{t=0} = 0 \\ V_t|_{t=0} = (\rho U_3)_t|_{t=0} = \rho e^{-\rho^2} \\ + V|_{\rho=0} = 0 \text{ естественн. ГЧ} \end{array} \right.$$

ρ^3 на поперек

